‘ ‘ki/ SgUGl ! IR FM

AMH: feI:
3 =3+ + 4(5x3 + xz) Ox® + 6x — 3x° + Tx + 5x*
Tx—x° —3(7x+ 8x3)+x 45 — 7x—4(5x3 + sz)—9x
7% — 2% — 9x — 3(4x° + 2%) 4(4x% — x>) + 20+ 9x + 5x
4x — 2x — 8x + 4(9x + 5x°) X+ 4 4+ 20— 9x + 4x?
8x* — 9x” + 3x — 3(6x3 - 4x3) 8%+ x° + 5% — 3(9x + 5x)

www.snowmath.com


https://www.snowmath.com

‘ ‘ki/ SgUGl ! IR FM

HMH: ﬁ:rw THR: -
3 =32+ x5+ 4(5x3 +x2) 9% + 6x — 3% + Tx + 5x2
2453 + X —3x + 14 + 13x
7x—x3—3(7x+ 8x3)+x 4x3—7x—4(5x3+2x2)—9x
—25x> — 13x —16x> — 82 — 16x
7% = 2% — 9x — 3(4x° + 2%) 4(4x% — X3) + 2x + 9x + 5x
—12x° + 5% — 15x —4x3 + 16x* + 16x
4x — 2x — 8x + 4(9x + 5x%) X2+ 4 + 2x — 9x + 4x?
20x° + 30x ox% — Tx
8 — Ox” +3x” = 3(6x° — 4x°) B + X + 5x% — 3(9x + 5x)
—6x° + 222 14x% — 42x
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